T2 8FEE 10B1ITEFRE (K- REEFR) presxss 2849 A23H ()
B | & 1% EESIH#  fth
g + 10838 (A) || 10838 (B) Ok R
e e hEX  8:30~ 9:00 18:30
ol g —R4L 1LHR 9:10~ 9:50
BEXE 2@  10:00~10:50
3l g BEE (1 H%E L) LHR ®Fh0123467 TE BN PR LR BRHFE 3@  11:00~11:50
PTAWHERR22(16:45~ Nk B HHE =) FHER 43 12:00~12:50
N o BRE  12:50~13:35
4]k (Ar=wvhrrT—sde (8 m k) g HE(1-24F) =42 13:35~13:45
5| ok |FARERSEITICHOEERERRE 4505 X6, @ vk 2% 1228:}‘5‘38
IRE R E (1-56, 5RE®) 0124537 7@  15:50~16:40
6| & %%@%ﬁ%ﬁ(@—"?ﬁ) 3P T A%ZAF14:00~ ,,%ﬁﬁ%é(?ﬂ:lﬁ)
7 & l V=T v 7 TA 1F4FEPTA%ZF14:00~ l v |EFESIHE
8 4 |2kl (9:00~)
9| B |BH2EERCQEFER)
10| A |AEDA
b [ERRREIRE (k) 24 (6,THR14:10~15:25 (KT HE) 4543 X 5, DDAk 035426@0@D R e s ks (=
11} % e (12, SIRA®) (178, IRA@), FHH71-34 MR (R )
12| & |&iesirl  mERERsE TS (TRR B LHR (A5 HH)
13| & 2 5 |k
14| 4 |mERET G L) RE - FEIERA
15| &=
16| B HE SRR (3 4F)
17| A HEAHE (4551 %)
18] T
19| & |AEfESFE—LIR (KB
201 K
21| & [HEI® (3fFEHAELED v % 5 [k
22 & [LREED EXER(2-3%F) RE - FEIERA
23| A |[&#RadER (34F)
241 A
25| ko [FEAERIBALL (L4 AQHE, 24F RERH, 34E i) [RIE R of23] A=vhyr-kAg (F B AeAE)
26| K |fFEE (14E) 1HEO@H v 0345670
27 K | @F>b 0134567
51k
28| & ' B R B A 2 40
29| & |[HEBFESR(1-24)
30| B [EFHES (24)
31| A A== R (A1)
%ﬁ 10R#RERA%218

OGHIEREXBHIA)




